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α+ β + γ = 180◦



α+ β + γ = 180◦, γ = 180◦ − (α+ β)



α+ β + γ = 180◦, γ = 180◦ − (α+ β), α+ β < 180◦



α+ β + γ = 180◦, γ = 180◦ − (α+ β), α+ β < 180◦

U =
{

(α, β) : α > 0◦, β > 0◦, α+ β < 180◦
}
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a = |BC|, b = |AC|, c = |AB|



a = |BC|, b = |AC|, c = |AB|, a+ b+ c = 1



a = |BC|, b = |AC|, c = |AB|, a+ b+ c = 1, c = 1− (a+ b)



a = |BC|, b = |AC|, c = |AB|, a+ b+ c = 1, c = 1− (a+ b)
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a = |BC|, b = |AC|, c = |AB|, a+ b+ c = 1, c = 1− (a+ b)
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Útvar R Pravděp. tupoúhl. troj.

Kruh 0,7201

Pravid. šestiúhelník 0,7204

Čtverec 0,7257

Rovnostr. trojúhelník 0,7482

Obdélník 1× 2 0,7987

Obdélník 1× 3 0,8668

Obdélník 1× 4 0,9077

Obdélník 1× 5 0,9329

Obdélník 1× 15 0,9877

Obdélník 1× 20 0,9923
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Rovnostr. trojúhelník 0,7482
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Obdélník 1× 5 0,9329

Obdélník 1× 15 0,9877

Obdélník 1× 20 0,9923

Koule v prostoru 0,5281
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